SPECIFICATIONS
Current Rating: 5 AMP

Insulation Resistance: 1000MQ Min.
Dielectric Voltage: 1000V AC for one minute
Operation Temperature: -55°C to +105°C

ORDER INFORMATION

5][7][D] (B [DJ R] X [A] [-]

T

AR

]

ﬁ

J—iﬂ

[>]
[]
=]

Material
Insulator: PBT+30% G.F. or Nylon 9T, UL 94V-0 [ 1:Tin shell + L(RoHS) | |a:7.2mm Footprint No. of contacts || A With Forking AThread Insert #4-40 G0:Gold Flash | S0:Selectivo BBlack ATra
Terminal: Copper Alloy 2:Nickel shell + L(RoHS) Male ©- ot contacts Grounding B:Thread Insert #4-40 + Jack Screw s;fouu.. SSE:;?U, e Ly
A 3:Nickel shell + U(RoHS) e ﬁtj_foh?}ack Screw GC200" SC20u"
4:Tin shell + U(RoHS) 2440 Remonbl vt gpound evp | | Gpan | _soor 2019.09.26
#4-40 Removable ———
#4-40 L H:Front Rivet #4-40, H=5.8 TETin 200u
#4-40 #4-4( #4-40 A V:Thread Insert M3+ Jack Screw M3
‘ Auached. No. of Contacts | Dim. A | Dim.B | Dim.C
A U:Thread Insert M3 09 308 | 2500 | 1692
I= 15 393 | 3330 | 2530
7 - A+0.2 %5 532 | 47.10 | 39.00
. b : 37 694 | 6350 | 5540
57DBDRXA-XXABXXBA-0T" ' B:02 ' ~
57DBDRXA-XXAAXXBA-01 o . 57DBDRXA-XXACXXBA-01 ~ . P
Thread Insert #4-40 Thread Insert #4-40 Thread Insert #4-40 + Jack Screw #4-40 < C+0.2 A
+ Jack Screw #4-40 Attached Removable + Rivet ground stra g—f*‘ ~ o
g p 3 Ly 277 %
#4-40 o . 1 R
#4-40 M% — 2 o
J \ | Il tee oo odloooeoe ) Al S
44444 j ot
A N 1r | —
% ] E]__ Jp  T0Topoouoravororovoonooe - g
<t (e}
57DBDRXA-XXAMXXBA-01 o 0
Thread Insert #4-40 + 57DBDRXA-XXAHXXBA-01 57DBDRXA-XXAVXXBA-0T"
Jack Screw #4-40 Removable Front Rivet #4-40, H=5.8 Thread Insert M3
+ Jack Screw M3 Attached.
| ~
Vs | puuuffuuu g3 [N
: [ce]
S ) ©
A P e LA =
——
57DBDRXA-XXAUXXBA-01 .09 2L | 3.18+0.38
Thread Insert M3 '
AR ¢h¢+ a 4.00
- +¢++¢22}¢++¢—¢¢ —
- . o
LN <t
N — - Old Part No.:DBR1-MXX-L
o EE:4
Recommended PCB Layout P.C.B. EDGE TITLE D-SUB R/ADIP TYPE Page| 12
(PCB TOLERANCE %0.05) w5 = Roy
PART};IO 57DBDRXA-XXAXXXBA-01 DI;AWN 2016/09/14
/B\x1 Add an options: U: Thread Insert M3 Nick | 2019/08/23 '
B 5% AR A ¥ Josh
Duxt Add an options: V: Thread Insert M3+ Jack Screw M3 Attached. Gary | 2018/11/22 prawing No. | ONO10-GB134 | oo 1 B |onecken| 20180626
/A1 Add options: 3: Nickel Shell+U(RoHS), 4: Tin Shell+U(RoHS). Gary | 2018/06/26 " i N P Bk ot [ 7 Jason
- - 121845 % A MR/~ 8] cusToMer PN SCALE APPROVED 2018/06/26
1 Add an option: H: Front Rivet #4-40, H=5.8. Gary 2018/05/14 S —=
X Amtek Technology Co., Ltd. N E X 2030 Py THIRD
REV ECN NO. OR DESCRIPTION REVISED| DATE TAx. sae o amee 0000 XX 025 ~ ANGLES=Y mm | avcle | & =
. . FAX: 886-2-2268-8035 TOLERANCE | &4 #U. UNIT PROJECTION



Owner
機構名稱、機構部門、日期


